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Lecture: 05
Kodomo-tachi wa ima asonde imasu
D 13 4 AT WET
Children are playing now

Konnichiwa.” = /12 53 @~welcome to the fifth class in the second lecture series on
Japanese Language and Culture. Last week we revised some basic grammar and some kanji’s
that we had done. So, now, as you know we cannot have a watertight compartment for what
we have learnt and for what we are going to learn now. So, while doing new things we will

continue to revisit what we have done what we have studied earlier.

And I am sure this will help you in your understanding of grammar, you =We will understand
kanji better, you will be able to memorize, it learn it do the stroke order and also all this
going back and learning something new will help you in conversation as well. So, last week

we did adjectives and the various forms conjugations of adjectives. Then we also did rai 7=

/) form of the verb and as you know (F)tai 7= > form of the verb says I want to do

what the verb is saying.

So,: Nnow today we are going to do the te imasu.~C 3% 7@) form of the verb which
is equivalent to the ‘ing’ or the continuous tense in English.: Now there are two types of
verbs; action verbs and non-action verbs. Now what does that mean? Well action verbs show

action done by someone or action done by the subject.

(Refer Slide Time: 01:49)



Action verbs — show Non action verbs —

action done by some one Express a state of being.
yomu - B &Rk ) sumu - £ Tj* ' §

nomu — gkg; @) ~ motsu —HF> £
hanasu - 359 “M’;‘%‘ aru - H5

Kkaku- B< ¥ < iru-L\3

asobu - B .50 571,3 . tsukareru - #hd )347\’5
oyogu - k< HEL komu - AL 5%

taberu - B~X% Az A 3

So, what are the verbs over here? You have yomu 77, nomu.~ £ e, @)then hanasu.~
747 @) 1 am writing this specially,: Sso, that you can also practice your hiragana kaku.~
<, asobu, UESS, oyogu Tk <, then taberu.” B X5 @F)~them-@F)-and what are the
non-action verbs? The non-action verbs express a state of being show some state that you are
actually living or are in. So, what are those verbs? Sumu_~{17¢, motsu.~ 155, aru " & 5
F)-then-d) of course is there, iru, > 5-@) then tsukareru, 72415 and then komu
S Z 7@). So, now sumu. 7 7re means to live; @)=motsu. & - means to have, to
possess; F)-tsukareru 741 % means as you already know to be tired and komu = 7

&) means to be crowded, all these verbs you already know.

So, now with the help of these words, what are we going to do? We are going to learn
continuous tense in Japanese, how to say that a certain activity is happening over a period of
time. For example like I am eating which means I am eating: nNow or I will be eating for
another five seven minutes and it is just a temporary action, it is an ongoing temporary action

which is equivalent to the ‘ing” form of English.

So, how will we say that in Japanese? We will see it: Nnow in our lesson but before that let us
listen to the passage. 1lt is a very short kaiwa) and most of it you will follow. So, listen to
the passage very carefully.
(Refer Slide Time: 04:00)



Kaiwa - £5%

(FL: From 04:00 to 02:36)
(Refer Slide Time: 04:11)

Watashi no uchi no mae ni kouen ga arimasu. Watashi
wa mainichi kouen ni ikimasu. Kouen ni takusan ki ga
ariamsu. Ki no shita de kodomo tachi ga itsumo isshoni
asondeimasu. Watashi mo tokidoki minna to isshoni

sunaba de asobimasu.

I am sure you would have understood most of it. Now I will do the explanation, it is very,

very simple. Ni kouen ga arimau 12 2Nz 725 & Y %7 Sso, you have done this
pattern place ni(Z @)-something ga aru 75 &5, watashi no uchi.”#. D 955
my house. So, you can also have e."~~a over here I have told you earlier also with ni /=
@) you are showing to your listener that there is a purpose for going to the kouen. =~ 9 %
A, watashi wa mainichi,~F, 1% ## H@ ) time expression. So, kouen ni.” = 9 X A

IZ, @ —place ni. @) o= takusan ki ga arimasu” 7=< SA K B HVFTF;
takusan .~ 7= < & /. means lots. So, now as you already know with takusan. 7= < & /)

you can count the number of things; you can measure the number of things.



So, kouen ni takusan ki ga arimasu.” ~F 12 < A K 2 DO EITEFRItisa
countable. New- /tsumo_ 1> & #-is ‘always’ and ki no shita de.” K @ L7= TER)
you have already done post positions. So, in relation to something so ki no shita.” 7K @

@ under the tree de~ Cthey because an action is happening kodomo-tachi ga itsumo
asonde imasu.” FHL/26 23 10 DOH HEAT WET, @it is a fact that they are
always playing over there thus particle ga~"7 3@ ). This is easy to understand that is why we
are using this explanation that ga_~"7 @) will be used as you know for a fact. -~ Watashi
mo.~F, % also because children are playing and that has been mentioned thus watashi mo

S F, & @) also sometimes tokidoki < 4=

minna to issho ni.~ £ & % |2@k) together with sunaba. 7 7¢ 7k is sandpit

de asobimasu.” T 70X F 7@Fk) because of action. So, place de. Cthey action and place
ni.~ | Z@) existence. So, over here arimasu.~ & ¥ F 7 @) which is arimasu. & V) F 7°
@) and imasu, V> E 7, arimasu,” & ¥ F 7 @) for non-living, imasu. V> F 7~ @)-for
living.

(Refer Slide Time: 07:13)

M) RO il 28 H HYES,
MEEA 2B T7FEFFET. 2BIC

=K{&A KN HYFET . KD FT F
fitE A —#IC BUET., Y IG5
X T #ATE & —#IC HTUFET,

Now this is in Japanese for you, you can go over it. You will be able to recognize some
kanji’s some you may not read the hiragana part and we will cover these kanji’s in some
lessons later.
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gp3 kuru - kite < g

@ suru - shite q EN "

So, now let us see how the re.~" Tday form is made for all the three work groups. You have
group one where the verbs are in .~ 9 ending or @)1~ 5 ending. So, remove the 1~ 9
&) and ru~ 5@ from the verb in the dictionary form or base form and put tte. > T
that is the double sound verb plus tze.”> T@EI). Now for group two verbs ending in eru~
< % and iru | S-era-and-iru in their dictionary form again or the base form remove this
part the 712 part and put just ze.” C.

A single sound just te.” C hey not the double sound. Now for group three you have two
verbs only which is kuru "< % and suru "7 %. Now they are in group 3 for a reason
because they follow a pattern of their own, they do not follow a single pattern. So, thus kuru
< 5 s kite, & T in te form@) and suru. 75 is shite.” | TEFH) in te@@) form,
these are exceptions over here. Now I would like to tell you that verb in fe@) form itself

has no meaning. By this [ mean that it does not say or show anything.

(Refer Slide Time: 09:21)



verb te + imasu

taberu/ B %

tabete..... X

tabete + imasu/ B TULVET  (taberu) eat
hanashiteimasu/ 5L TLVET  (hanasu) talk v
tonde imasu / RA TLVET (tobu) fly

It is just a form and cannot have or give any meaning itself. Only after adding imasu. > &
7@ to it, it becomes continuous tense or you can understand what it is saying, what the

verb means. Do not end it at te.~~ The only, imasu.~\ > & 7 @) has to be added.
(Refer Slide Time: 09:39)
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Now let us see in detail how we can make the te the-form for the verbs in the three groups.
So, you have group one and I just told you that the general pattern followed by group one to
make fehey form is tte.~ > T, verb plus tte that is the double sound. Now I have given this
also over here that means that these also are used but we will do this in the next slide. Now

these are the irregular verbs and I am sure now you can make out why I said the next slide?=



Because these 7ehey form endings are to be used for the irregular verbs of group one. We will

do it in detail in the next slide let us first see the verbs of group one. All verbs ending in 71~
S and v 9, @) you can see ganbaru.” 73 /13 5@ to work hard; suwaru 7>
S to sit; @ysawaru,” 75 to touch; @)-tsukuru. > < 5 to make; Fagaru
S BB
which means to pay. So, now how will we make the tte.”" > T@) form? Ganbatte.” 73 /v
/Z> T 1 write it also ganbatte,” 773/.1% > T, suwatte.” 7> T, sawatte,” X > T,
tsukutte > < = C, agatte,” 75> T, and haratte 13 5 > T-@FH). So, you can see very

to go up, step up and @)-harau /%5 9 you can see it is in v 9 @) ending

clearly this u~~ 2 @) is changing to this part over here for all the " 2 @) ending verbs.
(Refer Slide Time: 11:37)
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Now we have the exceptions you can see all verbs ending in ku~ < @), you can see over

here gu. <", bu "5, tsu.” O, mu.”7p, nu. 82, su~"7 @) and two vowels. They are all in

the exceptions category and obviously as they are in the exceptions category they will follow
a different 7e@) form ending. So, now for kaku 7> < @) let us see, @) -kaku ~7>< is
kaite 2V T, isogu.” V7 <'@) which means to hurry isoide "7 > T is which
is over here isoide V"< > C. Then you have @)tobu.~~ .52 which means to fly toned ~
& /T, @) you can see it is here, then matsu.~ 3 >@¥) which is to wait, it is matte.”
F - @) the normal re@) form which you can see over here:

Bbut why is it in the category of exceptions? Because somewhere in the conjugations it will

not follow the pattern which is supposed to be followed by the group one verbs,: Sso, thus it



has been put over here. Now we have nomu 7 @k) which is to drink and nonde ~ D A
T@) which is again nde /. C@) over here;<@) shinu - L 42 which is to die, again it
has nde /o O and @¥)-hanasu.~ /772 7 which has shite~ | @) you can see over
here hanashite /372 L T and au”" & 9 ewttwo verbs will also take tte.” > C.

For example kau 7> 5 @) can also be over here warau.~ 71> 5 5, waratte.” 7> 5 - T and
katte.” 7> TE) two vowels in the verb and this is the ending that you will get. So,

everything is very clear and you can make the re@¥=) form very easily now.

(Refer Slide Time: 13:41)

ep2 Ve
miru / 5 Ger m@® 32
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gp 3 Kuru - kite FL
suru - shite

Group two, te.” (@) form is very simple you just need to remove the 7« 5@k) from

here, the .~ 5@ of the verb and you just have to put re.~ . So, miru~# 5@k means
see-to see; neru 72 Sshe-@) is to sleep; taberu. 7= X 5 @) you already know and okiru
5 & 5@ is to get up/~to wake up. So, mite.” % T, nete.” 42, tabete.” 7=~ T and
okite " #5 & T this ru~ 5@ gets changed to e T te form@¥). Now you have group 3
and group 3 has a pattern of its own. So, kite.” & TE¥) and shite.” L T in te.” T

form.
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Now I will just write everything for you once over here suwatte.” 77> C, tabete.” £~>T
in group 2, suwaru,” 91> 3, suwatte,” 9> T, taberu,” -5 tabete,” R-~"T; kuru,~
K5 kite K T; suru”"9 % shite.” | T and exceptions you can have kaku 7 <

@) for group one @F-which is kaite. " Z T, nomu, Bl e nonde ~BL /. T, hanasu, 5%
7~ hanashite.” 7% L C all these written over here you can go over it the ones that are left you

can write on your own and revise.

(Refer Slide Time: 15:45)
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Now I have this written for you for your convenience kodomotachi wa ima sunaba de asonde

TRIET T HAT

imasu,” 7= 5
YiA T

it 4

imasu

not do anything only after you add imasu "> % 7@ to it, then the meaning is going to

V) E 7 they are playing now, asonde
VYE T so verb in te form + imasu. V) E 7. So te.” T @FH-itself will




come. So @) kodomotachi wa ima~ 725 |4 4, now sunaba de.” 9721 T,
sunaba, 77212 is sandpit de asonde imasu T U4 T U F 7 this is the sentence
that you have in your passage, so asonde imasu.~ &</ T 1 E 7-@) positive, asonde
imasen,” Wi/A T O FEHA—~EFE) negative, past asonde imashita UEA T VE LTZ,
@FB) past negative asonde imasen deshita~ <A T WEW A T L /@) and do not

have to bother too much with this at the moment, I have written it over here we are going to

take this up later at the moment just concentrate on the blue part. So, asonde imasu.~ 07/ T
WE T, asonde imasen UiA TUVEH A, asonde imashita,” WiA TUVE L 7=, asonde
imasen deshita.” /0 TV FE A T L /- @H)-are playing, are not playing, were playing

and were never playing.

So, you can make sentences like this, as is given over here use different nouns, use different
verbs and try to make sentences ask questions and answer. You can put a ka7 @) over
here and ask questions do a small kaiwa = 77#Fk) with your partner.

(Refer Slide Time: 17:45)
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Now I have written this here as well ame ga futte imasu~[l] 73 [F-> Ti % 7@ itis
raining; F)ame 7 is rain and futte imasu.~ % > T\ & 7@ is raining. So, I have put
ga.” 7@ over here, why ga 7@ specially? Because you can see that it is raining it
is a fact that is happening so particle ga~75@). Now ame ga futte imasen.” [f] 75 5
TUVEHA, it is not raining; ame ga futte imashita,” /i 75 5> T E L) it
was raining and ame ga futte imasen deshita [l] 7% 5> T WFHA TLIEFD it



never rained. Now this also I have put over here which we are going to do sometime later but
this is the planeplain form of the verb here imasu "% 7 @¥). Why we need this is?

Because we will be making compound sentences,=

Wwe will be needing more than one verb in a sentence, want to say a lot of things in one
sentence. So, at that time we cannot have masu_~~F 78 form twice in a sentence. So, we will
be needing this ptaneplain form of the verb. When we do that, then we are going to come

back here and learn this.

(Refer Slide Time: 19:08)
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Tarou kun wa nani o shite imasu ka? / KB AL A% L'CL‘iT me

Tarou kun wa souji o shiteimasu/ XBKA (& BB % LTLZET,

Now there is some practice for you. Kore wa nan desu ka.~ " 41 (4 (o] T3 772
Kyoushitsu desu yo ne.” #% T7 J 42 Dakara sensei wa nani o shite imasu ka7
e A 1E fif & L TUWET 2?7 Sensei wa ima oshiete imasu,” S5 1d

4 Hx T W ET. Kodomotachi wa ima benkyou shite imasu,” 7726 |4 45 #
L CTUVFET. Nani o benkyou shite imasu ka i % ik L CTHEFT 27?
Nihongo o benkyou shite imasu.” HAKGE Z ik LT ET. @)-So, let us see
what it is? Benkyou suru.” #5495, to study, so gakusei wa nani o shite imasu ka.~ 73 < ¥
VY 4L ff & LT WET 0? Gakusei wa benkyou o shite imasu,”F4E 1L
7 L TUWFET. Seito wa benkyou shite imasu,” ¥ & |E @ik L CTHET,
seito,” B> E is peoples. Sensei wa oshiete imasu,” 5G4 14 #x T U F T Minasan
wa sensei no koto o kiite imasu/ EEI A 1E EAE O ZE F BHOTHWET

@&E)-you can use different words and practice like this. Now Tanaka san wa nani o shite



imasu ka HHH XA (L ] & L TWWET 22 Tanaka san ne, uchi no souji o
shite imasu,” THH XA A, & O @k & L CTWFET. Tanaka san wa hitori de
souji o shite imasu” HFPEA |3 — A T F5C 2z L ThE T .EFBhe Souji
% 9 U is cleaning up, sweeping is souji < 9 L ;@) mopping and cleaning is souji
Z 5 UE). @)-Tarou kun wa nani o shite imasu ka.” KE5< A 14 {7 2 L TW
E9 23?7 Tarou kun wa souji o shite imasu.” XSS A 12 £oC & LTWFET:
Tarou kun wa ima isogashii desu.” K< A (4 4 JCLV> T So,you can use any
of this te imasu~ Tl F 7, @this is group 3 over here. Now this is also group 3 benkyou
suru,” #5% 7 5@k group three in fact it is group four, if we say benkyou o suru~ #)5#

z 7 5@ then this becomes group three if we say benkyou suru 5% 7 50

then it becomes group four.

You can use both when you say benkyou suru~#5% 7 % @)-then it is a verb but when
you say benkyou o suru.” 5%z 7 5@ then it becomes benkyou ) 7EHEE) is noun
and this is the verb and o 2@ is the particle over here, that is the only difference
meaning is exactly the same. So, benkyou o shite imasu.” i 2z L T F T,
particle o~ 2 @) is over here and I have also put it like this. So, that you can see that there

is no difference in the meaning basically, but there is a slight difference in grammar.

(Refer Slide Time: 21:38)
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shashin / toru
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shashin o totte imasu
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Tanaka san wa Mariko sanhnshin o totte imasu.
ABZAIE FYFSA O FH % LHTLFET,




Now you have another picture over here kusuri o nomu %5 2 BL7e, kusuri @) is
medicine. So, kusuri o nonde imasu ¥ & AT 1 ET, @F)—-he is having
medicine. Now in Japanese it is nonde imasu.~ 5 A Tl > % 7 and not tabete imasu.~ 7T
V) F 7 as in English. @)-wWe eat our medicine or we have our medicine in Japanese it is
always nonde imasu,~ B A TV E 97 Tanaka san wa kusuri o nonde imasu,” [HH XA 13

5z BA T FT,@B instead of Tanaka san@) you can add any name over here
Mariko san, Tanaka san,” [HH X A, okaasan,” F5+F X A, watashi,~ F4.@): Now there is
another picture of someone taking a picture of Mariko san.~ % V) = A, @) it could be
Tarou san,” KFS & A @) it could be Tanaka san.” [HH X /. or@®™E) anyone or otousan,”
B X A~ taking picture of okaasan.” F5FEE Ay shashin o toru " 5FH  # L5,

shashin. % EL is@@) picture and photo and toru. & 5@ is to take.

Incidentally toru & Z@3) also means to snatch or to take away. Shashin o totte imasu.~ %
E % Lo T E 7@ he is taking a picture. Now who is taking a picture? Tanaka san
wa Mariko san no shashin o totte imasu,” HH XA 1L £V FEA O FH Z

E o T ET,@¥ picture of/shashin, L %> L A of Mariko san@&). So, Tanaka san wa
Mariko san no shashin o totte imasu.” tHH A 14 FOF3IA O FH z Lo
TUVE 7, he is taking; @¥)-so, the action is happening right now. Now we can also use

non-action verbs remember we did in the beginning two forms of verbs action and non-action
verbs.

(Refer Slide Time: 23:18)



Action verbs — show Non action verbs —

action done by some one Express a state of being.
yomu - Bi&s k5 sumu- 6§ F

nomu — #x&; ) x motsu — D £
hanasu - 59 "M’&%‘ aru - 5

kaku - ®< ¥4 iru- 1'%

asobu - B 5 &Ey 1 tsukareru - b )347\‘5
oyogu - k< FHEL komu - AL S

taberu - B~X% A=A k!l

So, action verbs what do? #They do, they show that the subject is in a state or is in a situation
or is living that action that is depending on the verb: Aand so far we have shown actual action
happening at that time. So, now we can also say that ze.~ Cthey form expresses the state
resulting from an action, it shows being in that state or could also show location at a certain
point.

(Refer Slide Time: 23:55)
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So, how is that done let us see? Tomodachi wa kekkon shite imasu.” & 1 7i&t5 L C

L FE 7@). So, as 1 said it shows that you are living a state. Now if you say kekkon shite
imasu.” 17> = A L Tl % 7@ does not mean that the actual ceremony of the kekkon
1T > Z /A that is marriage is continuing to happen. No it is not that it is a state that

you are in, that you are married or you are in that state of being married. Then this one



tomodachi wa okane o motte imasu” K7=6 1L e & o T WNFET.EH
Motte imasu” & > C 1>F 7 means to possess to have motsu~ & @) is the verb,
motsu,” & - is the verbwerk.

So, what do you understand from here tomodachi wa okane o motte imasu.” X% |4 F
& & fFo T 1WET, @H)-he has money; he possesses money it is not that he is
holding something in his hand now he has money. Now if | say sumimasen, okane o motte

imasu ka " THECTA, B & FoTHFET 7’@ ) aAnd 1 put a ka7 @)
over here then, what does it mean? it means that do you have money now at this point, are
you holding some money in your hand now,: Pdo you have some money in your possession
now, sumimasen okane o motte imasu ka,” 7 A EH A, e & FoT WFET
7°?= New=-FE)-dDuring conversation, from context you can make out that I am referring to
now but tomodachi wa okane o matte imasu,” " Xi# 1% F& & 7o T F 7T means
that he has money. Now look at this sentence watashi wa Toukyou ni sunde imasu,” . 1%
HT I (A TV FE 7,6 one please remember sunde imasu,” A Tu>F 7@
is going to take particle ni /=, @) place ni sumu. 1= (FLe, sumu (L7 @F)-is the
plain form for sunde imasu. I/ TV F 7E@¥). Now @)-sunde imasu,” (EA TV ET
means living or staying. So, this is a state you are living that state, you are there and it can
also show the place as I said location your location at a certain point and that is Tokyo.
Watashi wa ima.” F, 1% 4, now Tokyo ni sunde imasu,” #5 1Z (FA T WET
& )-so, this is a state that you are living you are living=N now, you are going to be living for

some more time,:

1 it is not a short action. Now can we use iku.~ 77 < @) and kuru % 5@ which are

motion verbs which show movement in a certain direction in this form?= Well, we can but the

meaning is a little different.
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Shujin wa imasen.
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So, let us see what it is. Now this you have done shujin wa imasen.” = A [ " FHA
or shujin wa imasu,” A /4 UV E T or shujin wa ikimashita,” A 14 7&E L7
F)-or-F-or-FE): Now let us see in te. CEIE) form what it means? Shujin wa shigoto
niitte imasu,” FEA 1L (LF IZ 775 TV FET, soitte imasu, 17> Tl E 7@ if
you look at it iku 77 < @) which means movement in a certain direction towards your
goal. So, does this mean that the person is continuing to move? No it does not mean that, it
means that shujin 7 A @) has/-husband has gone to work he is in office or wherever he

works. So, his presence over there is being stated or said.

It is not that he is continuing to move towards his destination or shujin wa shigoto ni dekakete
imasu,” FEAN 1 (LF 12 T TOET or shujin wa ima dekakete imasu,” 7= A
/2 4 ToNSF T U FE 7, both will mean that he is out he has gone wherever he

had to go he has left this place, not that he is continuing to leave this place. It is very clear
from here that you can use but this shows location. This shows presence at that point or place
mentioned shigoto ni. L% |2, so shigoto. 15 is kaisha~Z=ft; shujin wa kaisha ni
itte imasu.” A |F  =fE 12 775 T E 7 F—@FE) he has gone to office. Now
there there-is another one here, tomodachi wa uchi ni kite imasu~ &% 13 5% 12 KT
V5 9@ tomodachi /& 1 has come home.

So, he is already here/he is present here/his existence in the house is shown, uchi ni kite

imasu” 5 1Z K TUFE 7@ and the moment you say uchi.~ 5@ and kuru~ 5



@) it means it is my house. If it was for someone else then tomodachi wa sensei no otaku ni
itte imasu,” XiE |4 B4 O BE IZ 175 T F 7,6 he has gone to sensei
/@) house because it is kuru 5 kite imasu & TUO % 7,@k) then it is my
house and uchi~5:@4) which is humble you could say is being used over here instead of
otaku,” 353 E; @B @)~ uchi ni kite imasu.” 5% |Z Tl 3% 78e, he has come to my

house his presence in my house is shown.

Now you have, watashi wa isshuukan mae kara koko ni kite imasu, %, 14 —H[FE] FiI

nEH 22 2 ATV ETT again koko,”Z Z @) is place, isshuukan mae kara,”
—H[H] g 75 @)-past one week, from past one week I have been here,- Wwhatever
the place is it could be my house, jikka ni kite imasu.” U -7 (2 ZTWFET or
Toukyou ni kite imasu.” # 5 (= & Tl F 7=@¥) whichever you may want to say. So,
@B kite imasu~ ¢ T L% 7 does not show that he is continuing to come it shows presence

at a certain place.
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¥V)T -
kiite imasw/EWLTWET kiite imasen/ELNTLVEE A
kaette imasu/fg>TLVET kaette imasen/fg>TL\EEHA
nonde imasu/8RA TLVET nonde imasen/8RA TLVEHA

haridtte)imasu/3h>TLVET haratte imasen/#hi>TLVEEA
hashitte imasu/ZELTLVET hashitte imasen/FE->TL\EH A
tabete imasu/f=_XTLVET tabete imasen/BRTLVEHA
mite imasu/#& TLVET mite imasen/ R TWEHA
oshiete imasu/BA TLVET oshiete imasen/BATLEH A
tsukutte imasu/fEoTLVET tsukutte/imasen/ > TLVEEA

Now this I have written for you so that you can see very clearly in the imasu.~C U F 7"
&) form present and present negative, present positive and present negative.~F) Kiite
imasu,” [HV> TV E T, kiite imasen,” [HV ) TWVFE WA, kaette imasu,” 702 > TWVET,
kaette imasen,” J7 > TV FE Y A, nonde imasu,” BLA TUVFE T, nonde imasen,” BLA T

WEH A, haratte imasu,” #4> TV E T, haratte imasen,” #4> T VEH A, hashitte
imasu,” &> T WFT, hashitte imasen,” &> TWVFH A, tabete imasu,” XTI E



T, tabete imasen,” BTV E VA, mite imasu,” S, T FE T, mite imasen.” S8, T F
A oshiete imasu,” Hz T VW F T, oshiete imasen,” # z TFEH A, tsukutte imasu,”
{E> TUVE T, tsukutte imasen,” (E> TV E W A. Watashi wa ima minna san to hanashite
imasu” Fh 1E 5 #HIA L FEL T WFET. Watashi wa ima Nihongo o oshiete
imasu,” F 1% 4 HAGZE & #x T U FF. Mina san wa ima Nihongo o naratte
imasu/ XA 1d 5 HAGE # #Ho T VFT. Mina san wa watashi no koto o
kiite imasu.” “EES A 1E FLo oo Z k& 2 [ CiuhFE T So this a long sound
kiite imasu.~ 4> T ) F 7@ and rest is all double, so put the tte.”"> T haratte imasu
NI 5 o T ET, tsukutte imasu,” >< > T 1 E 7.4 )-deouble-seund-@) pPractice

this and it will help you in conversation.
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Now I had said that we are going to do some similar looking kanji’s which will make it easy

for you to memorize. So, well the first one we have is mori~ 73y which is very simple ki
@) and ki A and ki~ @) which means it is a big forest. So, mori~ k)
means a big forest and hayashi @) two ki~ N keys-over here will make it a small
forest this is hayashi~#/@¥). Then you have done this a number of times but still we get

confused because we do not look at these kanji’s very often.

We are doing it in a non-Japanese environment. So, we need to do it again and again and this
is dai ~ A@) which is ookii A & | @) and the basic meaning of this character is ookii
R E D@ it is used in daigaku A @) we did it last time in lesson four. Then this



is hito.” A@F) you all know very, very simple hito.~ A, hito.” T &, jin.”" U /o and nin.~
(2 A F)-and-@F): Now one more for you onnano hito.” % 7 A@) and you can make
this word over here onnano hito.~ % @ _A. Then this kanji we did last time this is kodomo no
ko~ F-ft 7 1@ So, with onnano hito.” % A@) you can put this character
over here and it makes it into suki~4f = @¥) which is like, su~ 48 and ki~ & suki~
4f Z; okaasan wa kodomo ga daisuki kara isshoni shite suki ni narimasu,” B5FFS A 13
FHE N KIFEE e I LT 4FE I D FETE.
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Vocabulary
Sunaba ERAS sandpit
Kouen CHRA park
Souji %30 cleaning
Kusuri £ medicine
Shashin ER photograph
Komu AL to be crowded
Shujin EFA one’s husband
Isshuukan —iEfE one week
Aji 73 flavour
Atsumeru Ho2H% to collect
Tken BER opinion
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~te form for all three groups
Action verbs and non action verbs
Kanji/EF




So, with this I would like to end the class right here. Koko made ni shimashou.” = = 3 T

(Z L F* L ko, @) there is lot of things that you have done today, we have done ze
imasu.” C ) F 7 the-image-form there is still more left in te imasu.~ Tl F 7 the-image-
which we will do sometime later. And in our next class we will do some kanji’s, we will do
more of te.” T @FE)~form and learn how it is going to help in conversation. Now please

digest this go home make some sentences, practice with your partner and come prepared for

your next class till then Arigatou gozaimasu.” & V) 73 5 X F 7.k



